LIRbE O D) =M.

4.

B 384T ( ) MNETTE
IL'N Eﬁ%%k@*’l\ﬁﬁﬂ%ﬁ—/ﬂzﬁlﬂlﬁlﬂ%o (10 43

I el 1R bR, FEHMEL ERNBHEE, FHEE. 64

/ o O T
S O[O
O 9 A B E
e Bk (44D
BT AT P AR T AT R R R ()
ORERVAN @ ® [ ]

+. (ﬁ%ﬁ‘%ﬁgﬂ‘, REBTH FHEPERE &L ? EALRF. 8 4)
KW B | — | ERFE | =M | AT NLE

™2

i
1 1 1
______ Jommd ]
% %
/ -
/

I\ BhFBI. (55D
EESuRN LA 4l TINE




HEIR —FRZHFE T ME=E TS
P P 5t

—. HEE (294D
(1) 80 ey ¢ O 4o 100 72 ( Do
(2) 3AN—F 8 AT ERE ¢ D,
(3) 10 M B ¢ ).

(4) 56 WAL EWHEGE ¢ ), Fom ¢ O A C Dy ML ERETERE ¢ ),

Fom C O A C ),
(5) —ANHANLRZ T, AR 4, XAEGR ¢ ).
(6) 100 i ¢ O M.
(7) 67 RTTH— M0 ¢ D, JFE—ME ¢ ).

(&) M WAL, 0 ¢ O, F e ¢ ), HE=A00E (

fir.
(9 9B HIA ¢ DA C ) At

)

(10) 7£ 45, 54, 67, 89, 21 1100 H', HEAH ¢ ) C O € O . C ),
WEA C Oy C D)o MR EN/N B0 S 2Hp IR

C H)>C > >C)H)> >C)H>(C)H)> ()
Z. BREAIN R (215
80—30=  8+70= 90—60= 8+20= 9+90=  45-10=  14-9+30=
30+4= 49—9=  75—5= 40+ 7= 8 +40= 26-6=  87-7-50=
40+50=  58—8= 47—40= 20480= 20+ 5=  40+60=  45-40+8=
=, FEOHHEE “)” “(7  “=” 24

100099+1 45—5046—6 70+6 O 7+60 32-2032+2
80—40086—40 90—5006+50 30+20040+10 87+10078+10

M. #EAEEE O BR%. 640

(1. 5. 10 15, 20, C ). C Dy C ),
(2). 2. 4.6, 8. C ). C Do

(3) 100. 90. 80, € D, C ).

b
(o]
=
H
N
p=1



fi. FRRERREE. (324))
46 /N BE T

1. RibihR 7

W/

G
gl

(1) RAFAHRT 201 85

-
-

e

QUTRVAY

42

38

21

(2) RIRIRATRER T 2 DA B0 ?

CHHj V)

50

70

92

CS

RHBEERE \

2. —HLEHR 56 kT, C&k 1 505K, LEHkE bIk?

oonf=0

/

3. = (L MBAEFINAN, LEF20 AN, (D H—HEHFZHAN?

6.

0o0=0
4, — (1 A50 AN, H&EH20 N, = (LD EREFLDAN?
0o0O=0
5. AU —IL T 24 %kt ERT 204k, NN T 20462
0o0O=0
Bk ko T
A 354 43 1R 14 4
fEE 304> 3R 6 ™
| «C ) A C )| «C ) A




HER—FREE CRD BIUHEITRE

/=VAN

grgg 4, 14
—. R2E, (FS5H4 5. L46E5F15,%235)
LS54 H20%C ), D596,
2. AMFKEF R BIFME, AXFEHERF ARKBR RO E
C  )LHERPEPHPNEREC ),
3. O+O+1=01,0%RC ),
e x| =9
BHE| 73R [ OA| 9% [ HR
F W 50 R 22 A ( ) 4% 81 R
FE|C OR| 604 | 504 7R

5. fE—ME T EAFEERILTZ, FERAAN SR T HELZE.
65+300\+%& S+ 66—-400N+%& Z+%)
60+34(=+%& I+2) 424t E AHE)

6. 7E( B E“>" <R =",

96—50(_)96—5 5+30( ) 3045
78—40( ) 87—40 24430 () 243
2+47( ) 47—2 52+30() 2530
7 OOO0ODOOOOHHOD
J8BBBBBBBBY |
OBEC HMMTEC . OBz N OrSp
QD S\



